Program 1

hello := proc()
           return "Hello World";
end proc;
Output :

>

hello();

Program 2
	 
	half := proc(x)
           evalf(x/2);
end proc;


Output :

>


half(2/3);
Program 3
with(combinat, randcomb);

                           [randcomb]

randomize();

                           3051671956

U := {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15};

  U := {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15}

A := randcomb(U, 3);

                         A := {1, 2, 3}

B := randcomb(U, 5);

                     B := {0, 7, 8, 9, 12}

C := randcomb(U, 7);

                 C := {4, 5, 6, 8, 10, 11, 15}

A union B;

                   {0, 1, 2, 3, 7, 8, 9, 12}

A intersect B;

                               {}

A minus B;

                           {1, 2, 3}

A union B;

                   {0, 1, 2, 3, 7, 8, 9, 12}

A intersect B;

                               {}

(A union C) intersect B;

                              {8}

diff(A, x);

                              {0}

A intersect (B intersect C);

                               {}

`&x`(A, B);

                   {1, 2, 3} {0, 7, 8, 9, 12}

P(A);

                          P({1, 2, 3})

(diff(A, x)) intersect B;

                              {0}

